Probability & Statistics – I 

Course No. 45-733

Homework No. 4

Solutions

Pp 237-43. Problem 3
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3(b)

As the sample size increases the standard error of the sampling distribution decreases. In other words, the means of samples will cluster more tightly around the population mean as the sample size increases.

Pp 237-43. Problem 7
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Pp 237-43. Problem 19
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Pp 250-4. Problem 39
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Pp 250-4. Problem 45
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The probability is 0.95 that the sample variance is between 34.727% and 199.27% of the population variance.

Pp 250-4. Problem 57

57(a) 
[image: image18.wmf]120100

()(2)0.0228

30/9

PZPZ

-

>=>=


57(b) 
[image: image19.wmf]100

(0.843)0.20,0.84391.57

30/9

m

PZm

-

<-=-=Þ=


57(c) 
[image: image20.wmf]2

(8)

(15.51)0.05,

PX

>=

 
[image: image21.wmf]2

2

8

15.5141.7717

(30)

X

X

s

s

=Þ=


57(d) 
[image: image22.wmf]2

(8)

(2.73)0.05,

PX

<=

 
[image: image23.wmf]2

2

8

2.7317.525

(30)

X

X

s

s

=Þ=


_1075679239.unknown

_1075679583.unknown

_1075679972.unknown

_1075680240.unknown

_1075680522.unknown

_1075754121.unknown

_1075680520.unknown

_1075680521.unknown

_1075680439.unknown

_1075680195.unknown

_1075679829.unknown

_1075679914.unknown

_1075679726.unknown

_1075679524.unknown

_1075679544.unknown

_1075679336.unknown

_1075678896.unknown

_1075679039.unknown

_1075679236.unknown

_1075678993.unknown

_1075678424.unknown

_1075678474.unknown

_1075678377.unknown

